SSC CHSL 2022-23

A stwae= A58
HETMOCK TEST O &
TARCET 50/50 ~

L L27P

(3TIBY AR CHSL UR) Ll

(«) QuB | 08:30 PM BY SUNIL MAHENDRAS




UPCOMING ONLINE BATCHES

February 2023

10:30 AM to 12:30 PM

08 FEB 2023

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS
e

BILINGUAL

BILINGUAL

15 FEB 2023

BANK ONLINE LIVE CLASS

English & Bengali

& www.mahendras.org e \ 7052477777/7052577777



9

o

Mahit.. 18 hours ago

‘Thank-you Sir for this Super Duper Previous year Exam Class.. .,
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My Answer for today's Homework is-

Option C==18..

Read more

B Y

Reply

.

v “‘&; + 1reply

hs

Rahul kr 21 hours ago

Thank you so much sir 4, ...for a wonderful session
Hw ans—18

B Y

Reply

r

v “‘&; v 11eply

hs

Ravi Patel 21 hours ago
e

18 day\e

G 9

Reply

r

v “‘&; + 1reply

hs

Surbhi Sinha 21 hours ago

Homework question answer - 18days

£ % SuruchiJha 21 hours ago

w
.
-

Nice Sisson sir thank you so much Hw answer aption C

G 9

Reply

r

v "‘“&; « 1reply

.

Bittu Kumar 20 hours ago
Aj question bhut esee the

5 &

Kaushal Awasthi 11 hours ago
18 day

5 &

Reply

Reply

r

v "“&; « 1reply

.

Sonali Lakhmani 19 hours ago
18 days

5 &

Reply

r

v "‘“&; « 1reply

.

g

an

#Jethalal 9 hours ago
/—-’_\

18

i5 CH Reply

Bittu Kumar 20 hours ago

Ansis 18

i5 CF Reply

v (). Treply

_Bipuk vishwra 21 hours ago

HW. Ans. 18 option. Cece

B &

Reply

s

v “‘s« » 1reply

il

Zikra Yasmeen 20 hours ago
Option C

5 &

Reply

-

v "‘E « 1reply

i



SSC CH " Suhham{r}r Ghosh 21 hours ago

18 da*, g




J' SSC CHSL 2022-23 A -T2V

A can do a piece of work alone in 24 days and B can do it alone in 72

days. In how many days can the duo, working together, complete the

work?

A 3Tohet ToRET 1T Rt 24 fEAT H X TehdT B 2T B 3Tehel SHT ShTH il 72
T3t & X TehaT 81 ST THTeRY ShTH Shtd U 38 hTdl oh feha B H U
T Fehd 82

pra=>= D6

O
B \‘69**@') Yc) 18 }

d) 24
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The Earth makes a complete rotation about its axis in 24 hours.

Through what angle will it turn in 3 hours 30 minutes?
qoaft 24 ¢ T ST gt U Teh U kel TTITAT 2| T8 3 ©e 30 fome o form
RIUT § THIT?
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What is the compound interest on 20,000 for 9 months at the rate of

4% per annum, when interest is compounded quarterly?

20,000 FUX UX 9 T ok TeTT 4% T TN R X H Ashlfeg, SATS Tehe AT &,

W ST forTet ® 0 & R 2T L[
P = 20000 Rqérc=éf\/'\\\ =171 a) ¥610

— a0 oo
|Op="5 0 = SRNYE " b) %606.02
200 o~

. & o ¢) ¥609.05

d) 605
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The marked price of a shirt 1s ¥2,150. Let two successive discounts offered by the
store be 10% and ‘x%’. If the selling price of the shirt 1s 1,505, then calculate the
value of ‘x’

\Oh IS T Afehd T 2,150 T4 B HHT GohH FI &1 AT STt &1 shiveh ©¢ 10%

'x%' & Al FHHIST AT forsha 7o 1,505 Wﬁ% ar 'x' &1 99 JTd it
\\‘\&Q @\\SO \UX ek By =™\ /. a) 24.44%

b) 24.24%

\c) 22.22%}

d) 22.42%
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Romesh opened a fixed deposits account in his bank for 3 years by depositing £80,000.The

bank has promised to pay him compound interest annually at the rate of 7% per annum.

What 1s the maturity value of his FDR?

THIT I 80,000 TIA STHT Shieh 379 Sich H 3 99 oh {oTT Ueh Grafey STHT @TdT @idT| seh 4 3 7%
il S oAl G <Ishdll, SATS! 3T AT i ol STaT fohAT 81 I6eh THEIHN shi T %T
003

2 P~ @oooo  Rade="17 Nime ="YX\ 7 g
A=Pew) S600
“ﬁ:\,- 000 O ™ SO0 . PYE8IT0
\%DO RS < /(;b j |
T e e = B g

d) 98,900
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If the number 5X8146Y 1s divisible by 88, then what 1s the value of X?
S GE&IT 5X8146Y, 88 H ToIMTSH &, AT X I HH T &2




If the diameter of a solid hemisphere 1s 14 cm, then what will be its total

surface area?

3Tq Teh 319 ST oh1 AT 14 HEHISK B, T 0T el YB I GBS [oha]

gAY
TeA TSN T
A

(é? 20 >/

\®X

b) 362 cm?*
¢) 486 cm>

d) 261 cm”
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A and B working separately can do a piece of work in 21 and 24 days,
respectively. If they work for a day alternately with A beginning the work, it

would be completed in
A TR B ITcT-3TeT ki hid 6&%&? T Shi SHAST: 21 ST 24 Ta-T H I 3 Hehd

I J Tehic &Y  Teh {4 1 3l & 3T A T [ HLdT 8, 1 I8 ety

S|
\ﬁw —3
\6% E@Lc’“@\ m

¢) 22 — 2 days
\S%m ‘&g\_ﬁ]
\ d) 22 gdays

5
1
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The third proportional to 81 and 27 1s:
81 I 27 T AT T &2

N &
— 29r2F
C '-Ejé\/'/
A %\ l @\_7 | /WL a) 8
G 20\ . 0N
b
c. o B ; B b) 6
A (DRI
- <\; /\ CL}/‘ ny[} :® 07
e | ok B

d)9
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The marked price of a study table 1s 3,200. It will be offered for 2, 448

after two successive discounts. If the first discount 1s 10%, the second

discount 1s:
Ueh €21 ot h 3fohe Hed 3,200 0 2| 31 SHATTT BE oh SI1E 34 2,448 T0

ﬁﬁ‘ﬂ%@ﬁ@m ﬂﬁmﬁz_l_()ﬂ/g_% al gall e T 22

’%7‘%% Q\@O"‘W XD i
(\4)—_ b) 10%
8 =X L ¢) 15%

d) 18%



If the 3-digit number 2x3 is divisible by 3, then the value of x* + X is

3fe 3 Sieh! ol T 2x3, 3 A FrdsT B, A1 X2 + x FIAF FTR? > 7

\
%\3 A s%“f\/ ;
= =2 2)
ﬂ% i b) 20
(T XN
f\’ ':'Lj 3* £
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In an election between two candidates, 10% of the voters did not cast their vote and 5% f
the votes polled were found mnvalid. The successful candidate got 55% of the valid votes and
won by a majority of 1710 votes. How many voters were enrolled?

a1 JFHTGRIRT o i<l Ueh TSl H, 10% HAGTarstt = ST 7 Tel ST 3R 5% Hef Sele 9 1Y
Wmﬁaaﬂﬁé%m?ﬁw 55% STH §AT ST I 1710 Al 3 SIGHA | S| Tohell HIQTATST o

TGy vorod ool Gudidak @w@m\mx e
W\ X A0
mssv. Z;%"' \s\\/\é d 1O K 33\%@ pedhe G g

AV P ’%ih =\ \ @) 20000\
ol L | Bg 00D b) 21000
W= o fo0e ¢) 19000

d) 20500




The side of a square 1s 5 cm. If the side 1s doubled, by how many times w111

—

the area of the square increase?

Teh 1 shl ST 5 HETHISK 31 ATS 9T ohi GTAT oh (T ST T 3 ShT &R foheH
—z N
T 5@ ST

b) 2 times

¢) 5 times

d) 4 times



A bus goes to Mumbai from Delhi at the speed of 60 km/h for 60% of the journey, nd
covers the remaining part of its journey at the speed of 70 km/h. What is the average

speed of the bus (in km/h) during the entire journey under consideration?
Ueh S8 ST faect! § Heofg deh shi 3TAT AT 3T 60% HHT 60 TeRHl/ET ht =ITet | S AU AT
o I 9T 70 fopHi/ereT Sl =Tet ¥ aF i 2 Qﬁw%aﬁmaﬁ?ﬁ ﬁmw (fersi/eieT )

Ag = TL» SEraa
—\o © w'\’ow/“me’ \ Go'Mp\ \ 306 ler—
el = U290 N yaidye a) 67
B —Ae/‘*ﬁ'ﬁwz‘%% et )
NS L e

=X OV d) 65



n an examination, the average marks of 60 girls 1s 15 and the average marks of 40 bys

1s 30. The average marks of the group 1n which the boys and girls are taken together 1s:
Teh e H, 60 AR o ST 3k 15 8 3T 40 TTShi o HIEd 3o 30 8| Th T8 o STad
3ok, TSTaH ek N cTeferat sl Uek a1y foram siTar 2, e 2




Ram 1s travelling at a speed of 72 km per hour while Shyam 1s travelling at a speed f 90

km per hour. What 1s the difference in their speeds (in metres per second)?

Ty 72 fopeft fer o2 &t =imer & I S T8T § STelfeh YA 90 Tortt uie sie st =imet & I o T&T
Bl ShT =Tt § fordaT 37X (Hiet ufd Tehe ) B2

a) S

0

b) 4

&t420)
L -’ )

d)7
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